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© 01. Choose the one that is closest in meaning to the underlined part.

A male White Wagtail was in the car park and a rather bedraggled male Beagle was on the

short turf near the beach.

@ short-legged
@ wet and dirty
® sick and tired
@ slow-walking
® hungry-looking

. bedraggled : % X2, ST

[Z2HEol]

bedraggled [bidrgld] : S HE, HES T ex) bedraggled hair (3% X2 G2
L, thoroughly, completely [2FM3]] + drag [ECH

@ short-legged : Ct2[7} B2

@ wet and dirty : =510 G2

® sick and tired : OfZ 1 mIm| =gt
@ slow-walking : =2|H Z&

® hungry-looking : Hf 1O} E0|=

4 E)

bedraggle : & 20| HE3|CH 3 XA St rather : M, &3] turf : THC|

[314]
o 2 WEOlAlE O FAF A/ULD 7 T3] HOA HHJAT o+ HZ2 B2 TCE 20
UAEL. 7 ofH ZHO| U=

E23=1

@
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© 02. Choose the one that is closest in meaning to the underlined part.

Inspiration comes in many forms for Dallas’" master chefs. Starting with the fundamental
techniques gleaned from years of classical training, many of the city's top culinary artists head
to the Dallas Farmers Market to convert the best produce of Texas into delectable and unique

entrees.

@ observed
@ collected
® repeated
@ developed
® transcribed

:glean : (BEL XA S8) FH Zon}, BFES| HIRL

[Z2tEol]

glean [glin] : (BEL} X4 &&) F9 Zart, F&FI5| HILL}

> Starting with the fundamental techniques gleaned from years of classical training, ~

=AY J7|EE2 MG / fE NTAHQ 2EHoZRH LOtT)  FHAHo2 V|2HQ Vs
=0| "Z2OoE"0|2t= 2lo|7t HESHY| HE0 FE2 @#O| [collected] & LILY.

@ observed : EEE
@ collected : Z O}
® repeated : HHEZ|
@ developed : 7H& &l
® transcribed : 7| 2=

[o1#

inspiration : @& fundamental : 7|28 Ql; Z2HQl glean : Y 2oL}, RFES| H|RCH
culinary : 22|9|, 49| convert A into B : AS B2 TEA|7|C}, HHECEH delectable : Ot SHRL
Oi=HQl entree : MFOILE HEOM LIR= FQ2|

rir

’

(31 M]

FY2 et deiSsz Aot /) Ao 2 HASHA 4/ 7I2He JIeSE AESY /
H7to] nHNQ 2HoRRH HOHE / 1 A9l X1 22| 0|&7ts L7t E”Ei sitt= Iy
OS2 oottt 7 HAIA Ko MitESS T AL =5ot SEY(FRI)Z BRI M
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& 03. Which of the following best completes the conversation?

A : Had | started studying Russian a few years earlier, |

B : Beginning early applies to a better fluency in every language.

Russian better now.

® would have speaking
@ would speak

® would have spoken
@ speak

® had spoken

EH

EH
=

PEROIf + 0 + 7FE " DtAZE, FO| + 7P 2tA]

[Z2tEol]

Had | started studying Russian a few years earlier, | Russian better now. [=2 717 ]

[= If | had started studying Russian a few years earlier,]
EYVEEE B2 =Y =ME ZUE0 2A00 SREE T O ¥ AXSHA| @2 iAol dES
7%tz W0 "AH R =AM [had+p.p]E AESIRAXIT, — FEROU= "now'gls A[ZRAIE SBHA
HATfO| At CHE g Agsta U7 ME "=ertdE, 2 A8t A8 ¢ &= UsU
Ch mM2tM FE0= "F0 + would + SAHRE S ALE3s{OF L Ct W2t HEH2 @#o| ELoh
FY's POINT !l

S7PE R - ol ArMO| MK I 0K D e FL

If +S + had + pp S + would [should, could, might] + SAIY

7Y A= 7P8E atA

(AHE2 J=X| §IX|EH ~ O|AEEtH ~ HiG|

— 0t Atof BHOiE|= 2HY - el ZE

DAl AMHOl SXTEA| HetES DX A= FR00 AFES=H, =HE2 JPEE ARz, FE

2 JHdY IAE AEDCh Fold H2 A[ZMREAHnow, today]2t E7H 20|7] WHE0| ZF0i|A

2tolst= H&50| ERSHot

If he had worked hard, he would be rich now.

(Btef a7t eg EHd| HAHH, OA= XSF BA7 = AS HO)

» 219 2H0M ZHEN= SA “had + pp'E AMESHL AL, FEHO = "would + SAIHRE S A8 R

SLCH EE7FEd e atAALAOl WRYNHK| deke O/X|= AS LEFHT U0, If he had worked hardOllA

J7F ;o= g Y| 7| YU -~ A=2 XF2 FAZF ofYEts A2 QOiste JAHLCL 53 2

g W B0 nowdh= AIZHEAL ALEO)| F=olsof SfL|Ct
[o1%
fluency : &, s
(s M)
A U7 AIOL0fE & E BH O 2@H S2SH7| AMYUAGEH, H X5 HAOIHE O & & HIH.
B: €H AlAStE A2 E= AO0M S=5HA st =20| =

e

[
@

]
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© 04. Choose the one that is not appropriately translated into English.

© SEAYS Y3 Jt20= aHo| ¥ +50| YT ALY HO= HEHCE

— It was reportedly estimated that this year's rice harvest would suffer a considerable

decrease because of the unusually long spell of dry weather we have had in the southern

areas.
oHe o Li2tot CHE Uetel IL gM #Es ottt HMAbs Ef=ol LEO| ZHESthiE

HH4S 2+2 Z0|LC},

— If any country demands that some other country change its domestic policies, the former

shall be condemned of interfering with another's domestic affairs.

® 22 80le FHO| 1 U¥ ¥FS S=0t= A0l SQSICE d2Lt Ake AMH|[20f gt

HE 7I%ts ZdOI E sttt

— To bring about an increase in exports, it is important for us to sell commodities of

excellent quality and a low price. It is all the more important, however, to see to it that

perfect after-sales service is provided.

@ O @IHO|n Kool IRH 84 2|7t WasiCt

— We need more effective and creative international water management.

® SLALBH7 AIEEHZe Heto 3ot H2 o M GACH

— Every centrally planned economy has not managed the transition to the market economy.

Do HE QIQICH'E ZES LIEtLHE{® never, not yet 52| FALO{Qt BHH AL

[Z2taol]
© YA M3 72O BWO| M $50| 4T P4 HO2 HEHCL (O

— It was reportedly estimated (2&=5HLC})

that this year's rice harvest would suffer a considerable decrease
(BEe & 20| 43| Zdag ALZ)

because of the unusually long spell of dry weather [we have had in the southern areas.]
(5RAE oot =2 2)

@ T o Li2tt CHE Hetel mW EM HES 2SO MXAks Ef=ol WO ZHEethE HIH
= &= AO[Lh (0)

— If any country demands (2t 3 L}2t7t @75HCHE)

that some other country change its domestic policies, (Ct2 Lt2te| L} FX HAZ)
the former shall be condemned of interfering with another's domestic affairs.
(™A= Ef=ol WEo ZHdsitt= Hts #E Ao|ot)

=2 &=

@ T2 0= 20| F1 ¢ 4FS S0t A0l SQIL gLt Atz AMH[A0 2HEES

— To bring about an increase in exports, (=22 F7I& Zafst7| fIshM = =&2| T50&)
it is important for us to sell commodities of excellent quality and a low price.

(FQslch / EOjstE 20| / SEO| 21 g 4FS = S0 21 YUY 42 S8t A0 KL

It is all the more important, however, to see to it that perfect after-sales service is provided.
L (F8ALRALSl Hlugdt &) 28F, L2, 233 / see to it that : BFEA| ~ St=& (ZX)SHCt
(ABILE AFZ AMB[20| TTE S 7|5t 20| / E S8R5l
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@ H zmaHo|H X =Y &+ 2|7t EROSICE (0)
— We need more effective and creative international water management.
(%2le ER3ich / § 2ardo|n, HoXel M &5 a|7h

® SLALBH7E AIEEHZe et 3ot H2 o M= 2IRICL (X)
— Every centrally planned economy has fiot managed the transition to the market economy.

coh HE QRICh'E FRE LIEHE W, Z™ERAL never, not yet S3t &7H ARESHOF TELICE HEkA
> Every centrally planned economy has never managed the transition to the market economy.=

+g30F ELCt.

[013]
reportedly : HEO| 2™  estimate : FESIC  condemn : H|LHSICE interfere : ZHdSCt

commodity : &E, 2

k2=

®
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i 05. Choose the one that is appropriately translated into English.

@ Hoigh AtAS S dstEM o2 AEE &= AOICh

— We call philanthropy to help people in need at the sacrifice of oneself.

@ = X 108 S¢F o8] UN 7| 20N F=XQ IS s Rt

— He has been played a leading role in various organizations of the U.N. during the past 10
years.

® HROM F=RUAH A ofFE HIUCL

— Food and clothes were rushed by the government to the flood victims.

@ 2Ltk 2F XHpo| #2822 kol N UHE O|FY = UJUCH

— An effective use of human resources have enabled us to achieve a remarkable economic
growth in our country.

® HE32 Hx0| ma{strt of A LF W DR Zdo[2tn TCH

— Cherry buds at Changgyeonggung Palace are about to open. A staff worker there is the

opinion that they will full bloom by the end of next week.

: Food and clothes were rushed by the government to the flood victims. — rush (83| $=&3ICt &2

LHED

[Z2tEol
qfof 2t Xt 2 Sl SHHEM o2 AIEE &= AOICh (X)

— We call philanthropy to help people in need at the sacrifice of oneself.

: callo]gtE SAk= 584! SALE philanthropy?t =% 0{0]|11, to help O|5t= =SXZAE0{7 EL|CH

"~5 gfofFo|2tn EECH = 9|07t E|0oF 57| HE0| — we call to help people in need at the

sacrifice_of oneself philanthropy.2t11 SjOF 3lH, E&2 T2 O ZEA UHECHH to ££-AL O[5}

£ 71550 "it'e2 £¥otn U=HOE Y FIZE EY = AL

= we call it philanthropy to help people in need at the sacrifice of oneself.

S5EA A + FHO (it) + =8 EO0| (philanthropy) + to £8AF [TISHO]

(R2ls AE SJWSIHM o2 MRS 5= AS Hojgte fEL)

[—)

@ de= X 108 S o3 UN 7|20 M FEHQ S dff 2tct (X)

— He hes—been—ptayed a leading role in various organizations of the U.N. during the past 10
years. L He has been playing a leading role ~

: "has been played"2t= "be+p.p" CtE0l= YAZL LtE = 7] IE0| — He has been playing a
leading role ~ (A= F=HQ IS sHRUACHE HsioF SLICE Ol “during the past 10 years
‘= MR AN A8 & ASLHCH

ex) The country has enjoyed a period of political stability during the past 10 years.
(3 L2k Alg 1082t X H g7 FRI0H)

® ZROM F=MTA A o|FE HISHUCL (O)

— Food and clothes were rushed by the government to the flood victims.
(M2 o/ / EWHACE 7 HEO| Qs / =TH 20| A)

s rush (29| =&}, ELUCh

@ RE|LiEte 1N X HEOE NEo| AN UHME O|F = URMUCE (X)
— An effective use of human resources (/A XtRO| ZUAQI ALE2) / have enabled us to
achieve (227t &4% = JAEZE FUCt) / a remarkable economic growth (22h2 ZXHY H&E) /




2014 68 142 Ny F2|X 85 FOAE of X

in our country. (2|20l A)

: F0|& An effective useO|22 have — has2 $83|{0OF &HL|C}

® S8=2 HEO| maftrt. of HALS WF A TN Aol2tn TRC (X)

— Cherry buds at Changgyeonggung Palace are about to open. (A3 30| ma{stct)
A staff worker there—is—the—opinion that they wilt-fult-bloom by the end of next week.

L will be in full bloom
. 0|2 A staff worker F|O|| there is the opiniong =0 F=TtAH 7} ofL|7| W20 O{MstH, will
AlS

|7]
Ozt Z=&At §l0| bloom2 "Z0| IC}Ete SAZ HEA fullZE AT &= Q7] R0 Xzt
bloom(Z§zHe "HAFE AFR3SI0] — will be in full bloom& Z=3s{of $hL|C}.
ex) The tree was in full bloom. (L}F0 20| &% mo| QAULCEH)

013
philanthropy : 20, X}  bloom : 20| H|C}; 73}

k3= 1NE)
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i 06. Choose the underlined part that is not grammatically correct.

The rattles @ in_ which a rattlesnake warns of its presence @ are formed by loosely
interlocking hollow rings of hard skin, which make a buzzing sound @ when its tail is shaken.

As a baby, the snake begins to form its rattles from the button at the very tip of its tail.
Thereafter, each time it sheds its skin, a new ring is formed. Popular belief @ holds that a
snake’'s age can be told by counting the rings, but this idea is fallacious. In fact, a snake may
lose its old skin as often as four times a year. Also, rattles tend to wear or break off ® with

time.

: with which (which@| MZA} “the rattles"2 2S90| 1742 7t 1)

[Z2atEol)
The rattles @ i which a rattlesnake warns of its presence ~ (X)
L with which (22 / A4S 71X W2Wo| 2z EXof CHsl H1dste)
- which2| M&AL "the rattles"=2 20| 2= 7HX|1 ZASI=XE o= 40| HESIEE TA|

AL ing withZ £7g3l{oF BtL|Ct 2t = A rattlesnake warns of its presence with the rattles

The rattles ~ @ are formed by loosely interlocking hollow rings of hard skin, (O)

470 + BASA

: The rattles2te S4+F0{0 XA “are"O|2ts 4 SAIE AFEE &= USLICH

which make a buzzing sound @ when its tail is shaken. (O)
CAUEAMEE ol A whenl| At21F SIA|H|(is shaken)ES AFETH A2 Aol WE|=

=82 ot AO|ER "#FH"E A8t A R= BEAHYLICH

rlot

Popular belief @ holds that a snake's age can be told by counting the rings, but this idea is
fallacious. (O) (2gr¥eQl »Z2 #ol LIo|7t O N2[SS MOM @l Lio|E & £ ATt x|t / 0] dzt2
Z2ZE A0IL})

: holde '28CLf, FAISILHE, §EE LIEIWE that22 SHOEZ ALY = ASHCL

Also, rattles tend to wear or break off & with time. (O)
(e 252 A[ZHO| X[F0| M2t Af2tX| AL 22|kl= Zd™0| RULCt)
: with time (A|Ztat HZ0], A[ZHO| X| 0| haf

(o1l

rattle : 2 A2l A2, DO, &2 W2|o] &7 presence : =X
interlock : M2 S=2|CF hollow : £0| Bl S5{3t buzzing : ddHE|=
thereafter : 1 Z 0| shed : SOHCL, (ROILt &

fallacious : &2 El; ARl wear off : (KtE) At2tX|Ct break off : £2|%/Ct
with time : AlZt3t 20 —A|ZtO] X|'Hof e}

131 M)

d=2 / AAS 7HX SSYUO0| Aol EXof o Basts / =20t REel= 0| 8 HEs
ZEe| 12l Q3 gd5=H, A2 dEels 2218 HEL / 2 127 2SHE W /
M7 o, 2 #2 NS eSS o] ARSIy O nelel M g REL2RH /O =2
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of, AZ0] 1 d=5 Ha WoL / otLtel M2 127t gdett // 2ertyel 232 el Lo
7t 3 A2lES MOM #el L4Oo|E & & Utk SpX|Eh / Of 2 HRE AOICE /7 A, #2
a9 e LFES &8s & AUCL /7 L Ho| dl XNHMTF X 7 Lok SES2 AL X[HO

et Atepx|Z{LE Balsls Aeto] YUt

E2=

@
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i 07. Choose the underlined part that is not grammatically correct.

We sit on the couch and ponder the idea of @ taking a walk, but don't get up and do so.
We remember our doctor @ tell us to make a follow-up appointment, but keep forgetting to

call. We realize our pants are tighter than before, but can't resist another chocolate chip
cookie. We'd all like to live long and healthy lives, but each day we make small choices that
will affect our health negatively @ in the years ahead. Almost half of Americans 65 and older

@ have two or more chronic diseases. Those aged 65 to 69 use 14 prescription drugs a year:
those aged 80 to 84 rely on 18. We may live long lives, but for many of us, those lives aren't

healthy. Too many of us accept chronic diseases — all caused to some degree by less than
healthful lifestyles — as simply the burdens of age. By understanding our health-related
motivation, we gain insights into barriers that ® keep us from enjoying better health as we

age. That's where our questionnaire comes in.

: remember2| EX0| Xt2|0of SAIRES AFBE 5= ¢l

ojo

[Z2tEol]
We sit on the couch and ponder the idea of @ taking a walk, but don't get up and do so. (O)
(REl= Amof SHotM A= 0| CHei 50| W2SHX|T / Lo{LAM O™-A SHX| @=Ct)

S APMBICHE o|0|st= EE take a walkO] MX|AF “of'] E[0f OB E taking2 AE3BH A

rlo

ot
=

rir

We remember our doctor @ #el us to make a follow-up appointment, but ~ (X)

L telling
: remember= FHO| A2 "SAHE"S ALESHA| 7| ME0 "tel"S ALEE = S0, QAL
SICH=

st A 7|AstCtE LHEO| E2{H teling22 =Y8|0F BhL|LCY,

each day we make small choices that will affect our health negatively ® in the years ahead. (O)
(Y 22l 22 AEES 2Lt/ 22 CHH2 4= E Qo R2(|9 HZo FEXez dakg 0/3H)

Yo R kg B W Sohg 9|0dts EHCE in the years (that lie) ahead2 AHE® = ASL
Cf.

Almost half of Americans 65 and older @ have two or more chronic diseases. (O)

L 30| + SFAf [have] AHE

(65AM O|Ao| O|=25 & Ho| Hut2 & L& 1 o9 oM ASEZ 7HX|2 QCt)
halfet= E22A| BAZE A2 e of SOl YAZE MatAd SAtel the, 2 ZAYIH,
“Americans 65 and older"0| F=0{0|7| ME0| SFAl "have” & A& A2 Y= EAYLLCL

we gain insights into barriers that ©® keep us from enjoying better health as we age. (O)

(REl= HHES HEs SEHES d=Ch / R2[7F LHO|7F S0 T2t § L2 HdEE E7IX RotEE Tx)
: "keep + FHO| + from ~ ing"E "Xt ~ing St= AS Lo}, Yolsictets 0|2 22[7F O
Lh2 dde 27/ A2 ZotE5 Z=Chs 20|o]7| =0 20| A AMZO| &2 UFL|C

[N )

[o12l]
couch : &I}, 71 2|Xt ponder : 30| HZSICH chronic disease : BHd & insights : S
prescription drug : M2 2F motivation : &7|; At=  questionnaire : HEX|; HEZAtE

_'IO_
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= 08. Which of the following best completes the blanks (A) and (B)?

The tea leaves are harvested into a basket slung on the plucker's back, and subsequently
transported in baskets or bags to the factory. Any damage to the leaf will break some plant
cells, which will release enzymes that will start the leaf fermenting (more correctly, oxidizing)
and turning brown. It is important to minimize this by careful plucking and handing. The leaf
must not be crushed or piled too deeply. Also, the factory must not be too far to reach.
(A) , once the leaf is plucked, however carefully it is handled, some bruising will occur and
fermentation will start. It is important to keep this to a minimum before the manufacturing
process starts. For this reason factories have to be within a few miles of the fields.
Manufacturing tea need considerable expertise and skill. All these requirements mean that it
is not normally possible for small-scale growers to process their own tea. Most tea factories,

(B) are contracted either to a large plantation or to a consortium of small farmers.

(A (B)
@ So however
@ Nonetheless moreover
® Nevertheless therefore
@ Therefore thus
® Meanwhile for example

: Nonetheless (10| E75t1) - therefore (AIHEE)

i
o

) AkF)el MZEE NCHE7| 20 252 A2 IHHiXFSO 2Chs 7Oigh sE0|Lt 5

O ALt A 0| E|ORACH= LHB2E (A) A0l= ZH A7 CHRO{OF 3T W

AL, 3 Foje otFe E CHREOE 2| Che AS AS7| W20l R SRy
Z LIE}LH= Nonetheless (10| £7st0)7F E0{Z 4= U&L|CH

oo rio —
r|r
1
™

i) B) ¥2 &2 MH{Z A2 ditots 2 OfEtks W&o, Fof
=z Xt Histot= A0| ASEI7I [[H—Eroﬂ Olmet ZIHE AZSH
LICh et g2 @0l ULt

4 St

= M Fols SE=0
= b
[ =2 =

o
= g therefore7t 71%& HZ
HE

@ So (A2HAM) - however (SHX|2h

@ Nonetheless (A0 E+3t11) - moreover (ACH7})

® Nevertheless (AHO| = 275t1) - therefore (A2 EZE)
@ Therefore (122 2) - thus ([H2FA)

® Meanwhile (3 S2t0f, 3HH) - for example (& =)

013

sling : ~& OHECH pluck : ~2 &L =Lt subsequently : ~0f O[0]A, 1 CtZ0
transport : 2EISICH enzyme : &4 ferment : YR E|Cl YHA|7|Ch

oxidize : MBIA|Z|Ct, ZEA SICh crush : ASHCH B=C} bruising : Et8H, &%
considerable : &&3t expertise : ™E X|4  contract : AILSICE consortium : ZAAA

o =g

CL

=2 HL ¢z =& 7 2E E0UE A=)l S flof DHEE / J2|3 0|0

—_—
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& 09. What can be concluded from this passage?

Most of the huge flows of money from British Empire's vast stock of overseas investments
flowed to a tiny elite of, at most, a few hundred thousand people. At the apex of this elite
was the Rothschild Bank, whose combined capital in London, Paris and Vienna amounted to a
staggering £41 million, making it by far the biggest financial institution in the world in the
late 19C. The greater part of the firm’'s assets was invested in government bonds, a huge
proportion of which were in colonial economics such as Egypt and South Africa. The extension
of British power into those economies generated handsome new profit for the Rothschild
family. Between 1885 and 1893, to give a single example, the London, Paris, and Frankfurt

houses were jointly responsible for four major Egyptian bond issues worth nearly £50 million.

@ The interests of the Rothschild banking family were inextricably linked with those of the British Empire.

@ The fortune of the Rothschilds reached its peak around 1893 to gradually decline since then.

® The Rothschilds played a key role in ensuring a peaceful relationship between Britain and France.

@ The representatives of the Rothschild Bank advised the colonial governments in South Africa
and Egypt.

® The Rothschild Bank in London controlled its branches in Paris, Frankfurt, and Vienna.

. Most of the huge flows of money from British Empire’s vast stock of overseas investments flowed
to a tiny elite of ~

[ZatEol]

(R B 23]
= Most of the huge flows of money from British Empire's vast stock of overseas investments
flowed to a tiny elite of ~ (HGHM=2 HOiT sfel FX} F4A NHE2LE2RH L2 MU £9 58 5 0%
22 450 A2|E, HOF BIOf, =4THo| AREAZ Z2Z4Ct)

s =7tel sl FAL Aol AZEA S ULl WS SOl O 22 =712 Fof &5 AEES9]

A2|E
Fetol 2 & ot A= AS € + UASLICL

=> The extension of British power into those economies generated handsome new profit for the
Rothschild family. (3= M2l 0|5 ZHESZ22 =2 2AXNYE Jt20| e Mz2 0|9s &
Eoff Woth) - =2 MU FMo|M HIRE It 2AKYERNE= TR0 2 0|2 HES Wie

[
A0 2 UWEO0|EZ JH2 @H2=Z = 5 UGS

@ The interests of the Rothschild banking family were inextricably linked with those of the British Empire.
(Rothschild 2&7t2| 0]9}2 CHEM =2l A 7oA HZE O ULt

@ The fortune of the Rothschilds reached its peak around 1893 to—graduatydectine since then.
(Rothschild €7te| £& 1893 & Z1=0| E}L, 1 O|=2 FHA SOSUALH)

® The Rothschilds played a key role in ensuring fpeafe#ukrehﬁeﬁshrp between Britain and France.
(Rothschild €7t= F=1p =20 FHoHOl 2AE =Est=0H S2st 9= UL

@ The representatives of the Rothschild Bank advised the colonial governments in South Africa
and Egypt. (Rothschild 22| CHES2 HOtZe|7tet O|HE U= ARX| YESE A=)

® The Rothschild Bank in London controlled its branches in Paris, Frankfurt, and Vienana.

(M E2| Rothschild 22 mi2|, ZFI=Z2E, 12|10 HALIY A= XASS SHMIUCH)

E)
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stock : T4 investment : FAt apex : A®, {OZ| amount : (ZAO0[) ~0f O|=EL}
staggering : =2t2, Y& stagger : E|HHE|Ct the greater part of : ~2| CHEE
asset : Xkt government bond : =X handsome : 7l 4ESH house : H; 2AF
inextricably : 27HE5HA|, BESHA

131 A]
CHEM =2 HCot sie] £t =4 AH2O2HEH LI2 Ojot =9 S§ F FEE2 £49| HEE
Lo Efof, =HBto| AMEHSOAH=Z S2{ZEL // O HE|E AF Holl= Rothschild @AXtLE) 2
d 7] oglg FEol 40 14t

o
ol AUYEL|, , 20| HH, mel d2(1 dlAdLtoAel X Rt o 2 L
oo Rt /7 OS2 19M7] 28 e MA Z[0He| F87|H2E THEHA 4/ O J|Y XAk
EE2 I EXFE A=, / 2AQ SCHS H82 APXQ ZHE0 UARUCE / O|WEL} Hot=
2I7 22 /7 = MEO| O|E ZAMERO 2 ZAKNUE JHEO| METH M2 0|YUS HE|
STt /7 18851k 1893 ALO[Of, / SILITH O & EXIH, , H, mi2|, J2|1 ZYIAFEEQ| J|AE
2 3502 MAX|D JYRACE / Aol sHMT ML JHX[7t Ae Ul 7Hel =8 O|HE A LHS //
8

@
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& 10. Which of the following is true, according to the passage?

This Congress, House Republicans have focused on smaller government, less spending, and
more transparency. This is a government by the people, for the people. We believe that being
good stewards of tax dollars means spending less and providing more information on how
federal resources are spent. House Republicans have adopted policies to save the American
people $594 million and reduce spending on House operations by nearly 14%. We also

maintain the pay freeze on member salaries and increase funding for our U.S. Capitol Police.

@D Smaller government, less spending and more transparency are focused by House Democrats.
@ It is not the role of this congress to provide more information on how federal resources are spent.
® People are rarely aware of how U.S. congress runs and reduces spending on its operation.

@ House Republicans have attempted to cut waste and save taxpayers’ money on House operations.
® House Republicans are not interested in saving tax dollars.

C S8 /S0 MaS oA 21 XES 2t S FoiRtaS HEUHR A =2

[ZatEol]
@® Smaller government, less spending and more transparency are focused by Hotse—Berocrats.

(O &2 R, 8O B2 K|S, Jol0 He SBY2 Ul §FEY oAS0| IF HOICh) ks

—

@ ttisnottherote of this congress to provide more information on how federal resources are spent.
(ALERO XS0l fEA XZEl=X0f et O B2 YEE HIsts A2 ol =32 JZo
OfL|Ct) [false]

® People are rarety aware of how U.S. congress runs and reduces spending on its operation.
(=EUS2 0= =27t o{EA 22 3 2F0 oot X522 E0l=X SN & UK @)

[false]

@ House Republicans have attempted to cut waste and save taxpayers’ money on House operations.
(BU s=td @S2 JHIE 20|12 o2 230 UM Ma HFAS2| == Of7[2{2 O ZtCt)
[true] : House Republicans(32tY I&E)0| ME2 OP4 A1 X|ES ELst= YHZ F|Cts W
802 0 29| L|8O= Al 22 @w#o| FLch

® House Republicans are—rot-interested—n saving tax dollars. [false]

(AU 33t Q@f=2 Mag ot7l= o 2ol gith)

[o13l]

House : 2|%| steward : #2|2; &X SF¥ adopt policy : MEZ FSICt, HES AEHSICH

Capitol police : =2| ZH|LCH

[oH44)
ol RoIN, AL BT USS HE fch /O He WL, Bt M X, 12D oY £
goll /7 olze FR oz, UG L3 Yook /22 f
%e A NFSHD o BL |
ROl THeiA 4/ | B2te ol

= - =
S Horsim o8] 2o ChEt XIBS A2l 14%

w ofg rjrorr o2
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& 11. Which of the following best completes the blank?

The suburbanization of the United States was not merely a matter of new infrastructures. It
entailed a radical transformation in lifestyles, bringing new products from housing to
refrigerators and air conditioners, as well as two cars in the driveway and an enormous
increase in the consumption of oil. It , as subsidized home-ownership for the
middle classes changed the focus of community action towards the defence of property values
and individualized identities, turning the suburban vote towards conservative republicanism.
Debt-encumbered homeowners, it was argued, were less likely to go on strike. This project
successfully absorbed the surplus and assured social stability, albeit at the cost of hollowing
out the inner cities and generating urban unrest amongst those, chiefly African-Americans, who

were denied access to the new prosperity.

@ faced resistance by the unemployed

@ was bound to trigger an energy crisis
® also altered the political landscape

@ boomed into a long-term sellers’ market
® enabled steady racial integration

: ~ turning the suburban vote towards conservative republicanism.

[ |?_k ILSH _E_Jél-]
It , ~ turning the suburban vote towards conservative republicanism.
L 0 1t2 "uQzt / (nQo BEig EXN JoFo Ro2 F2|HA)

= FO{Q t2 "uQ3"E YSIH HIZE Fof W2 we XFo| HUF BE4A IotE Zoz BNt
= ZI0|22 HiZto| 7pE HESH AH2 @#o| &L

@ faced resistance by the unemployed (M YXHS2| XMatof =HHIUCE)

@ was bound to trigger am—enrergy—<risis (ZLEA| OHX| 2|7|& [FLUSICE)

® also altered the political landscape (£3t HX|H EZ S BitA|ZiCH)

@ boomed into ateng-term—sellers—market (&7|XQl TO{X} ATt Z HERCE)

® enabled steady raciat-integration (&3 QIS5 S22 7tsotA 2ULH)

(o131

suburbanization : 2|2} infrastructure : AtZ| 7|8t AlA  entail : FESIC housing 1 FE S5

subsidize : EX 32 FLt property value : &4t 7}X|  encumber : X|&Z FLCt
go on strike : L0l SO{7ICt albeit : HIE ~ZX|2t= hollow something out : ~2| £ LfLHCH

inner city : = X9 unrest : ¢t

31 ]

0j=2| uelsts ©HX M2E Arl 7|8 A|ESTe| EX7F OfL QUL // OAA2 S0 A0
2040 HstE fHRLh / T SS0MFE dE oMK MEZ2 HESS /MMEN, /
Y=z otol Xt F et M7 4H[ol He S7ts 28 / AA2 Lot XA S8= HSAZICL
/ BUSE flet ExEg0 2ot FH ARTE/ XGMe 2Eo| =HS BAIH0 mat / FS4 7t
X[ SLofelel Mgl YoE ol / welo| HYE BN SotFo| Bo2 F2|HAM / FAHE ¢
3 XZge L= FH 2{AS2 / HE0| FEEHA=H, / D0 HAY 7Hs€0l § Kot /7 of
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© 12. Which of the following is the most logical sequence of the four parts to complete the passage?

We recently received good economic news. The unemployment rate continues to improve. It
was 10% in the fall of 2009. It was 7.5% at this time last year. It has been fluctuating 6.3%
and 6.7% for the last couple months.

(A) Unemployment for 18 to 29 year olds is 15.8%, more than double the general rate.
Unemployment for 18 to 29 year old African-Americans is 23.8%. For Hispanics it is 16.6%.

(B) Youth unemployment is one such problem. Young people face higher hurdles to and in
the job market. They have fewer skills, less work experience and smaller networks. The
consequences are devastating and the facts bear this out.

(C) High youth unemployment is not confined to the United States. For the 33 developed
countries in the Organization for Economic Co-operation and Development(OECD), combined
2013 youth unemployment was 16%. It ranged from 7% in Japan to a whopping 58% in
Greece. This problem has serious financial implications for all of us.

(D) But before we celebrate, we need to examine the numbers behind the numbers. These can

mask deeper problems.

OA-B-C-D
@C-B-D-A
®D-B-A-C
@D-A-B-C
®B-D-A-C

LT 9 MEOIA 2O LHBO| LIRXIB, LIOXE £HEHO| L4 ~ ¥ NS Bute2 XSt (D)
A|EHE
- o

[Z2tEo[]

i)Y MFOM SEHC WO LIREX[EH LIHX|A) (B) (O)2 L2

ME But2Z AlESt= (D)E AlAECE = + ASULCH MEtN (D)E Al

A E gL ot

i) O)OIM AZE problemsE such problem@Z gH= (B)7F O|0{X|& Zi0| XFAAZ D, [Youth
=)

lo

SHFO| gojma, o

S
oI B @ @ 02

AT

unemployment is one such problem] — HA Mol #H=X LIELR A7l 0|07 & — O/=F2 Y
of M MAXQ Mat8 AZstE (O7F LE 0| AAAHT| MR ME2 @0

—d

Lict.

[01%
fluctuate : S22 7E&3ICt  bear something out : ~0| 838 ZTYSICH confine : J$HAIZ|CH

=
o
whopping : €48 2

(31 ]

2l X220 F2 BM 2MS ®UALE / dYEOl FEI| MMED AUCE /7 A2 2009E 7HSO
10%RACE /7 A2 2E O 75%ACt // AA2 63%2 6.7%0M S&E HEst2 ULt / X[
F 2 32 /(D) ST 227t Footr| = "o, / REl= "Xfa Flol 7t <At=S dE
= 297t ULk // OlAS2 H A EMSS 7t2 = ULk // (8) Y HY0| 2 stLte| ZH|
Lty @2 MES2 H &2 oa=S B / AHAE 2 QOHH dg|a a etoM 7 As2
0 H2 Z7les 7I%3, H M2 95 dgn o &2 dYs 7tk /O 2as2 $450H o
AHHE0| 0|20 888 ZYLEICL // (A) 180IA 29Mo] HYES 15.8%E, LUt HYES F Hi7t
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= 13. Which of the following best completes the blanks (A) and (B)?

A California lawmaker has introduced legislation (A) to prevent sports owners from
turning league fines into a business expense that can generate a tax break. The legislation
from Democratic Rep. Tony Cardenas follows the National Basketball Association's $2.5 million
fine and lifetime ban of Los Angeles Clippers owner. The congress — man'’s staff members say
they're not aware of any specific team owners who have used their fines to generate a
business — related tax deduction, but the lawmaker wants to remove that possibility entirely.
He says fines are meant to be a punishment, not a business expense. He says it's

unacceptable that “multi-millionaire owners get a tax break for (B) behavior.”

(A) (B)
@ designing illicit
@ designed judiciary
® was designed justifiable
@ designed egregious
® designing acclaimed

g 2XI3t7| fef neteEl AO|2E2 "£F"29| 2|0| — designed (12HEl) / (B) 2 &

= ?
= B Zfz L WSE 20| — egregious (O A L)

(A) to prevent sports owners from turning league fines into a business expense that
can generate a tax break. (AZX ARFE0| 2|0 Y2 S AIYHIZ HHRE HS YX|SH7| lsf 10tE)
DO YOHO| AmX AQFES0| HY MZ PUE YXBY| s notE zo|2g 4579 ojn|g
H2 QUE designed?t SOI7Hs Ho| HEELILL [@, @, ©F AHH]

ii) ~ multi-millionaire owners get a tax break for (B) behavior

(= WHHX A[FFF0| B) HAFLIG= HF0 i ME SHE 2= A)

HIS X gy 5|'— L ASS o0sts HE MY HES A2 egregious (G AHTFL )Y
Ct.

A (B)

@ designing illicit (282
@ designed judiciary (AHR2l)
® was designed justifiable (A%
@ designed egregious (O{X L =)
® designing acclaimed (H%xHH20toh
[013]
deduction : 3H|; &2 llicit : 282l judiciary : At#2| egregious : HX L glE, X|Z3t
L)
AZ|zL|Oto] ot =2 R0| YetE EYUMULE / 2XX ARFS0[ 2|0 58 AYEHIZ HH =
= LX5] Rl (A) 22E 7 Mz RUE ZHAZ = U= /7 UFE S| Tony Cardenas(E
L FHEILt2)7F dost O gote / MO| 57 §3|(NBA)Q| 2500 e Hanh B FXHES S
Ch / 22 WH|A Clippers (22|HA) ARF0 Chst // 1 ol@lo| MY Lot / 152 of=
E8% 8 2/fFSS €A Rottta / O52] HaS AgD AItE Ma SHE ZdAIZIZ] 26k
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= 14. Which of the following best completes the blanks (A) and (B)?

The Colosseum in Rome is an ltalian icon and a relic that (A) to the first cetury AD. —
lions, gladiators, chariots and all. It is one of the handful global (B) that needs no
introduction. But with so many historic (B) to care for — like the Colosseum, the
Spanish Steps and the Leaning Tower of Pisa — ltaly is beginning to struggle to manage its
vast portfolio alone. This is a fact now readily acknowledged by the country’s political
hierarchy, with new methods to pay for the upkeep of these magnificent structures being
sought. "To me, this belongs to the entire mankind,” Rome mayor Ignazio Marino told CNN
as he looked out over the ltalian capital from a balcony at City Hall. “We have to share
projects and ideas but we have to share responsibility to maintain these for the generations

to come,” he added.

(A (B)
(@ dates back landmarks
@ adheres fames
® is acclimated monuments
@ belongs views
® pertains battlegrounds

D ZEMZOl MY 1M7|7F FEEIIeBz IS LOHE “date back’ / HAMHO|L MAHo=Z Tt

=
X An RS XS X[Fdt= CHOIZAM “landmark’

[ZatEol]

i) The Colosseum in Rome is an ltalian icon and a relic that (A) to the first cetury AD. ~

(Z20re] E2ME2 ol elotel 40Xt R=0IL. / 7|) & A W MZI7HK| (A) HEE S27H)

 EEMBOl MAYT 1M7[7F HEERCEZ T[FE b= “date back'S A3t A0l HELL

ct.

ii) It is one of the handful global (B) that needs no introduction. But with so many historic
(B) to care for — like the Colosseum, the Spanish Steps and the Leaning Tower of Pisa ~

D GAPHO| D MAXe=Z Tt A RBoE X2 X|HSe HHOEM “landmark’Zt HE LT

(A (B)
@ dates back (~7HX] &2 227t} - landmarks (F8 X¥X|F)
@ adheres (FESICH - fames (Y4A)
® is acclimated (~0l &S3ICH - monuments (7| E=)
@ belongs (&}Ch - views (T,
® pertains (EMSICH - battlegrounds (HZ&h

[013]
date back : @ALZ} ~7HX| H&2 S2tIICE readily : & A, 7I7H0| hierarchy : X[HHS, 195; AZ
upkeep : ||, FX|H|
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© 15. Which of the following is the most logical sequence of the three parts to complete the passage?

The Colosseum in Rome is an ltalian icon and a relic that dates back to the first century A.D.
— lions, gladiators, chariots and all. It is one of the handful global landmarks that needs no
introduction. But with so many historic landmarks to care for — like the Colosseum, the
Spanish Steps and the Leaning Tower of Pisa — ltaly is beginning to struggle to manage its
vast portfolio alone.

(A) "We have to share projects and ideas but we have to share responsibility to maintain
these for the generations to come," he added.

(B) This is a fact now readily acknowledged by the country's political hierarchy, with new
methods to pay for the upkeep of these magnificent structures being sought.

(C) "To me, this belongs to the entire mankind," Rome mayor Ignazio Marino told CNN as he

looked out over the ltalian capital from a balcony at City Hall.

®A-B-C
@A-C-8B
®B-A-C
@B-C-A
®C-A-8B
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[013]
date back : FAIZ} ~7HX| HE2l SE7ICt readily ¢ &7, 7I7HO| hierarchy : X|HHE, 19IZ; Al

= upkeep : 7X|, RX[H]|
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= 16. Which of the following best completes the blanks (A) and (B)?

Some drugs have a higher chance of being abused than others. However, it is frequently
more useful to classify drug-taking behavior than it is to rate the drugs themselves. For
example, some people remain social drinkers for life. Others become alcoholics within weeks
of taking their first drink. Drug use can also he classed as (A) - short-term use based

on curiosity or (B) - long-term use based on extreme dependence.
(A) (B)
@ experimental compulsive
@ compelling tentative
® overpowering experimental
@ urgent experimental
® overwhelming preliminary

: short-term use based on curiosity / long-term use based on extreme dependence

[Z22tEol]

[OFXet 23]

= Drug use can also he classed as (A) - short-term use based on curiosity
L 27|¢0l Qs B[l AL

or (B) - long-term use based on extreme dependence.

L k2| of&d0 7|=3 71X Mg

2710 ot Eh7|™el ANt SEO| oEY0| 7|ETH FHIIFHQ ALEE2 tthiE|l= JHE0] Eadt
o, A HW BIZH0|= “experimental” & B EIZH0|= “compulsive’7t EHZ 5= USLICH

@ experimental (X&XQl) - compulsive (ZHEF5 Ql)

@ competling (ZMEQ) - tentative (R-A QI
® overpowering (2™

- experimental (A& X0l

)
® overwhelming (Z =X Q) - preliminary (0fH]2])

Q1) - experimental

[oigh
social drinker : A& SFIJt be classed as : ~2Z2 2EEL|Ct tentative : EXQ
overpowering : Ot 4% A8t preliminary : Of|H[ 2

131 M]
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& 17. Which of the following is true, according to the passage?

With the possible exception of the Hubble Space Telescope, the Viking program was the most
expensive NASA mission launched purely for scientific exploration. Viking was an enormously
difficult and successful mission. It cost about 4 billion 1,999 dollars and required robotic
spacecraft to land on another planet to conduct chemical searches. And yet, in a sense, the
Viking mission was a failure in that it did not detect life. Not only did it not detect life, but
the results revealed the Martian surface to be a highly inhospitable environment for life. There
was less carbon in the soil of Mars than there was on the Moon, and worse, the presence of
highly oxidizing conditions indicated that organic material could not survive in the soil. If a
dead mouse were buried in shallow Martian soil, its carbon would be converted to carbon
dioxide, which would flow into the atmosphere. The results from Viking drove many nails into

the coffin of the belief that Mars was an Earth analog that might harbor life.

@ The Viking spacecraft had to cope with the lack of carbon dioxide in Martian soil.

@ With the help of the Viking Program, it was discovered that the oxidizing conditions in Mars
were hostile to organic life.

® The Viking program failed because of some last-minute changes to cut its enormous costs.

@ The Viking mission failed to confirm the pictures of Mars transmitted by the Hubble Space
Telescope.

® The sample of the Martian soil brought back by Viking was kept in a special coffin.

: ~ the results revealed the Martian surface to be a highly inhospitable environment for life.

[Z2lEol]
® The Viking spacecraft had—to—cope—with the lack of carbon dioxide in Martian soil. [false]
(HO|d RFHE ztd EY £9| O|itatEta 2X0)| CHX{soF JHCt)

@ With the help of the Viking Program, it was discovered that the oxidizing conditions in Mars
were hostile to organic life. [true] (HIO|Z Z2IMO| =Zut HE0, 29| AotA|7|= 2+F0| Y
=0 HojHol2ts Ao| ZAL U

c2hg BEHO| 4O #7(0f ofe RHYT 2F02ts AS AW WEo YE2 @70l gLt
® The Viking program failed because of some last-minute changes to—ctt—its—enormous—costs.
(Holgd =22 1 d¥H B82S Z0/A= O OHX[2} &7t Hats M0 HIHUCL) [false]

@ The Viking mission fattetd—to—confirm—thepictures—of Mars—transmitted by the Hubble Space

Telescope. (HIO|Z YFE 3i2 2F YRB o3 HSE MTUSES 2Qlot=0 HTRUCL) [false]

® The sample of the Martian soil brought back by Viking waskeptin—a—spectat—coffin.

(HHO|ZO| 7t S0t zHdol EY ME2 43 20| H2EQUCt) [false
(013
Martian : 2}42| inhospitable : AFZO| &7| BE oxidize : AZHA|Z|CH =& A SiCt

shallow : &2 drive a nail : 22 BTt harbor : ELCt, &4FCE &3  transmit : M&35|Ct

(31 M]
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& 18. Which of the following is true, according to the passage?

The Center for Disease Control confirmed this week that there is a second case of Middle
East Respiratory Syndrome(MERS) in the U.S, this time in Florida. MERS is a respiratory disease
that is caused by the MERS Coronavirus. MERS is in the same family of viruses as SARS and
the common cold, but it appears so far to be less transmissible. The virus first appeared in
Saudi Arabia in 2012 and to date, there are over 500 lab-confirmed cases of the disease
worldwide and more than 145 people have died. The virus has spread to other countries in
the Arabian Peninsula, and it's thought to have originated from camels. The symptoms of
MERS are shortness of breath, fever, and coughing. In some cases it can be fatal, with 30% of
people contracting the disease dying, but the first U.S. patient in Indiana has fully recovered

and is discharged from the hospital.

@ Each year, a couple of MERS patients are reported in the U.S.

@ MERS is thought to have originated from small domestic animals.
® The first US. MERS patient failed to survive.

@ MERS cases are reported mostly in the Middle East.

® MERS seems less contagious than the common cold.

: ~ but it appears so far to be less transmissible.

[ZatEol]

@D Each year, a couple of MERS patients are reported in the U.S.

O D=0 E, F0 o S52E7I8FT SAS0| ALt BAEC

C 0= WOl SS=E7ISFT(MERS)S] & HM Atzi|7h ACtD A5t JASLICE [false]

@ MERS is thought to have originated from small domestic animals.
(ES=87I8F T2 N2 IS=25FH UL oA T

D HELZRE WA HOR HOICT AFED UBLICH (fake

® The first US. MERS patient failed to survive.
R B 0= SS257|15=T SAts AFYRIL)
D ORX9 20 R B O|=Ql SHAh= 2ER|E[ACtD Aot AL [false]

@ MERS cases are reported mostly in the Middle East. [false]
(BE8=28715=2x MY E2 FE 550 2L}
M MAELE SHXHE0| LtEtHCED g5t S L(C

® MERS seems less contagious than the common cold. [true]
(T3=2g87|5FT2 L8 A7|E0r HEFo| Bt Aoz HQln})
D ARALE L8 Z7|M HRO|2{A0|X|2H M H-H0| O HCta Agor 3R EFI LX|SH AELCH

[MERS is in the same family of viruses as SARS and the common cold, but it appears so far to
be less transmissible.]

O]
respiratory : 28 7|22| transmissible : EHEY = U=, MHHE2| to date : XIS7HX]|
contract : (&0f) Z2|C}; E0|CH, E{SCt domestic animal : 7}3&  contagious : & -d9|
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& 19. Which of the following best completes the blank?

What is state surveillance? If it were about targeting in a(n) way against those
causing harm, there would be no debate. The actual system of state surveillance has almost
nothing to do with that. It's no longer based on some individual suspicion of wrongdoing. It
covers phone calls, emails, texts, search history, what you buy, who your friends are, where
you go, and who you love. What state surveillance actually is, is defined by the National

Security Agency's actual words, that phrase they use over and over again: "Collect it all.”

@ questioning
@ discriminate
@ arbitrary
@ malevolent
® explosive

DS oYsr|EL RE BEE FEESH of st e X o2 US.

[Z2tEol]
> If it were about targeting in a(n) way against those causing harm, there would be
no debate. (2teF 1240| HBHE RESD A= AEHSO Ciet MEXQ HAlo] AHFo| T AOIACIHH, / =7

o] Bi%tE Aol

HA AL 2

C HEE ogsr|EL RE JEE FEESH o UYL B['Collect it all” (HF +HSIEh)IS
=H g Aesz gt ~dEHQ" LAz JYEE ettt 20|0|M discriminate?t 7t X
2t

S|
@ malevolent (22X Ql)
® explosive (ZZH2)

E)

surveillance : ZHAl, ZH=E  suspicion : 2|&  arbitrary : 9|2

, MSCHZ2| malevolent : 22| =

(31 ]

=7tgAlEt FAQte /7 T 0| mohE RESL Us AFRSO Oigt HEXO Lo AL
Ciet ZOIALHH, =d0| SAS AOICt /7 =7tHAlel 2MAN el MAE d4dat= 7l 2tA 7 Sioh.
/) AR2 H old HAE jeXel HEAA Cist ojdS Z|gte= SHX| et/ AA2 H=l O
oY, =&, @A WS, 40| Fofet A, 4ol TFS0] +70|H F4lo] oE|z 7t=X 221 &
MOl FTE ARSHEXIE ZEILh /7 T7F A7 dR2 FRAX|E, / 37t AERO| A 2=
CHOS2 FolEitt. / 80| Bt=Xog AM85t= 1 #HEE: "8 TSk /

P8 e
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© 20. Which of the following best completes the blank?

If debt becomes too large relative to resources, there is a "debt overhang,” which inhibits any
form of positive action. Few of the individuals presented with this problem have the
quantitative skills to understand and resolve the underlying issues. In other words, those
people have trouble the standards of mathematical rationality presupposed by the

economic theorists who model and quantify fundamental economic issues.

@ putting aside
@ counting off
@ sitting in for
@ making believe
® living up to

rE

FAAE St O M7 A=XE 2= 22 F UM 2HOM Z
of #52 550 Sitks 2Ol Z0joF ste 2 iz 7hy HE
= @HOo| gL

Few of the individuals presented with this problem have the quantitative skills to understand and
resolve the underlying issues. (O] 2ME Z& HIE2 LHQl 7|2E2 Aol 7tX|1 UX| %LCt 7 22H0l

2HSS olgfstn & = Us

@ putting aside — put aside : FAISICE, MX=CH

@ counting off — count off : BIQ2 Lt&LCh ~9| =& = 0IIC}
® sitting in for — sit in for : ~2 CHAISICH

@ making believe — make believe : ~Q2IK| SICt [= pretend]

® living up to — live up to : §83}tC} SHESIC}

[o1%l]
relative : H|2{|3t, & CHE QI debt overhang : M& 2t inhibit : AXSICE sit in for : ~& CHAISICEH

~ ]
— o
quantitative : ™0l 22| underlying : 22X Q2 mathematical : H&tst 850l
rationality : 2f2|4; O|d presuppose : O &StCt, FHSICH count off : HZE ALt

131 M]

oref SlOf Xpitap Higof W& HTCHH, “xfF atFroltt. / a2 ofiHet HEjel 38Nl ds:
SHA| RoHA| ot= /7 Of 2ME HAe JHE2 FHO ZlegsS Ae ZHXA UK gt 7 225¢
ZHEE Osste & & U= // Ol ol O MEES2 & g2ldel 7|&50 28510 A=
O 27t At 7 2=H2 A 2HSC REs UED +SSts FH O|27HS0 ol o ¢E
/1

E23=1

®
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& 21. Which of the following is true, according to the passage?

Margaret Thatcher was the longest-serving British Prime Minister of the 20th century and is
the only woman to have held the office. A Soviet journalist called her the "lIron Lady", a
nickname that became associated with her uncompromising politics and leadership style.
Originally a research chemist before becoming a barrister, Thatcher became the first woman to
lead a major political party in the United Kingdom. She became Prime Minister after winning
the 1979 general election and introduced a series of political and economic initiatives intended
to reverse high unemployment and Britain's struggles in the wake of the Winter of Discontent
and an ongoing recession. Her political philosophy and economic policies emphasised
deregulation, flexible labour markets, the privatisation of state-owned companies, and reducing
the power and influence of trade unions. Thatcher's popularity during her first years in office
waned amid recession and high unemployment until the 1982 Falklands War brought a
resurgence of support, resulting in her re-election in 1983. Thatcher was re-elected for a third
term in 1987.

@ Thatcher was the only barrister to become British Prime

@ Thatcher was called “Iron Lady” by her opposite party colleagues.

® Thatcher was popular during her first years in office due to her populist policies.
@ Trade unions and state-owned companies are among Thatcher's supporters.

® The Falklands War was a turning point in Thatcher's job approval rate.

: ~ Falklands War brought a resurgence of support, resulting in her re-election in 1983.

[Z2tEol]
@ Thatcher was the onty barrister to become British Prime [false]
M= = 3217t & R €8 BHIAUD
20M1710f 7t 22 SRt @= =H0|R2H O ’S!’i'% gst RS odojats A2 =50
Z|0f AKX RSt HH HoAts A0 =[O AKX EELICH

—

fob rot

@ Thatcher was called “lIron Lady” by her-oppositeparty—cotteagues. [false]
(CHA= ZroHEof elsiM 2ol ol o2t =2{RLt)

 GICHEOl ot o &3 (X7 AEE "ol ofvo|2t SRV HE0 LXISHK| HELIC.

® Thatcher was popular during her first years in office due to her populist policies. [false]
ChiMeE 24ol HiEFo™ SHMs Mo A HM /7S 271 ARALE)
UM £ R 2Y0M OHel R B 47| S XSl Q7= dU7IEMt 2 HYER Q)

[N
AlSsiREt egstn AL L

@ Trade unions and state-owned companies are among—Thatcher's—supporters. [false]

(cSZgs = 7IYS2 UiNel XXIXHSO SeHCt)
CUiME tesxgsEe SEH FHE 20/ UChs A0 AZEJAX|T XX|XS0| Hetttis
AZ0| [0 UAX| @ELICh

® The Falklands War was a turning point in Thatcher's job approval rate. [true]
(ZBUC WYL M| M 23 KX Z0|A HEHOIYCH)

S ORX|SE E2F0IA aue] R R 7] S tiNel 27l BU|HMet =2 HYER 2 ASHR

ro
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X|2t 19828 E2ME HHO| XXz TH=ofE FFMREAM 1983E Z1lHo| ZfMo|2t= ZIME %
ChH= Aot 2X|sta AELICE [~ Falklands War brought a resurgence of support, resulting in her
re-election in 1983.]

[013]
associate : BEA|Z|CH uncompromising : EtE IR 2= barrister : HH B A}
in the wake of : ~0f /0|0 deregulation : #X EH trade union : =&x%

wane : 2| E[SICH resurgence : M7|, £

(el Ad]

O7kEl CHA (Margaret Thatcher)= 20M1710] 71 22 S23F d= =40l ; O XMZ AUt
S ofdo|ct /ot A J|Xbe QHE “HO| ofQlvo|zt SRICE / 49| EFRESHA| Qe FA|t
X=3 AEpLDt X7 YOl /7 HH HzAZL £[7] Mojle |2 et ARXIen, / A=
S=OM Ch=E2 o2 A B 0]40| &[RACL /7 A= FE|7t =RACE / 19798 SHAHUM SEl
b 20| , O2l 2ol FAH ZHE J|ZEES TYUMLCE / =2 HYEN EFO AZ20 Fo|2
@=o| 5 J2j1 TY F0|H 22 FTY| {8 ==/ 2ol XN Hotut M S
2 ZZXFCH / oA 23 8HQ 28 AlY, Y 7|9E9 U, d2|n EsXEEe et
HEE 0l AS / 24 A W 7| S ChNo| Q7| AI7|HNet =2 HYEE Qs Al
SolMCE / 1982 ZZUE MMO| XX Lo eSS FHMHI|7tX|, / 1983F 49| MMO|2t=
ZANE FOoHA // CHME 198701 Ml R 7[0f XM =QAct
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© 22. Choose the one that refers to an idea different from what enthymeme represents.

Enthymeme was used by the Greek philosopher Aristotle when, in his treatise on rhetoric, he
needed a word to describe how reasoning works informally in our everyday arguments, where
we do not necessarily use the mathematically rigid forms of logic. In Greek, the term
combines en (into) and thymos (soul) to suggest the way that reasoned language is able to
produce belief. Aristotle called the enthymeme the @ substance of proof and said it was the

rhetorical version of the logical syllogism. The idea we argues rhetorically, for Aristotle, are
those that "are capable of admitting two possibilities” and so @ exist in the realm of the

probable rather than the universally true. Thus, what makes the enthymeme different from the
logical syllogism is that in ordinary discourse the enthymeme contains 3 statements that are

contingent rather than universally true. It does not have to assert @ all of the underlying

premises of the reasoning, which are understood, and its validity is based on ® making

reasonable connections for the audience rather than strictly valid inferences.

oY

Al

X @2 A

rlo

Wk 2QISHHNM o{oF & (XHFE]

1o /=L

njo
Ho

: enthymemeS LIEIHE ESES 1

[ZatEol]
Q. Choose the one that refers to an idea different from what enthymeme represents.
(W2 20| LIEHE AT CF2 7498 RIESHE %S ot desiAle)

0x
Jn
%
u
Iz
™
=)
>0
<
3
(0]
3
)
=2
flm
rot
=
o
|0
Hu
N
me
A
rt
4r
Ar
k=)
o
»Q
o
Ral
o
Ot
rr
Ral
i
to
ro
_O'_I-
re
>
e}

un
o
=

40|
realm of the probable AHMOl27| B @ =275 Q1 Tl& S (statements that are contingent)
2 ELCE o9 2FoiM 1749 EfEdd2 ¢ E5=2 ?or gelfe 9ZEss tes A
(making reasonable connections for the audience)a 7|8t 2 A
metM @, @, @, GHE "diFa| 2 dastn UKo @#o| =2

o710 siEol =X &7 W2 YE2 @o| Lot

=
o B Z=H¢2 HHES"0

[o1%

enthymeme : M2F F2|H  treatise : =&, &2 MA  rhetoric : FAtE
192 rigid : HHSt reasoned : E2| AT substance : 2, 23

syllogism : A& 2| discourse : Ha} contingent : 22X QI assert : FESICH

reasoning : =2

necessarily : 2N

premise : ®X| validity : EfE inference : T2

[314]

&= F2|EEnthymeme)2 2| HSIAL OF2|AERY A0 Q3] ALEEIQACE / 12| F=ArStof et
==0AM, / D o Ho7t 2Rt / FEO0| EA HSHH22 HSO=XE BALBH| I8 /
2o LM =WS0A, / AN 227t {2z AT JEIO| =2|§ Y22 AEDt
K& WLk / 221202, O &0 = en(222)% thymos(B2)E BYCL / =2 A A7t
BEE d2 7 Uc Y-S AASH] f6HA /7 Ofe|AERE A U5 FE|EE © S22 2F0
gt 2Rl / AA2 =2y A9 F2|o| AN QEjetn TRCE // RVt FAHLR =3t
= 1 4452, / O A2E—Y20AH =, / "F 7] VtesdES AEE + As" Ao2tn BEfen
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= 23. Which of the following best completes the blanks (A) and (B)?

As more and more heads of household in charge of their family economy are losing their
jobs, the number of school children who cannot afford lunch is also rapidly increasing. The

(A) of widespread unemployment in recent months is/are now being felt in schools as
well. This is indeed a big shame even though we are currently (B) a tough financial
crunch.

(A) (B)

@ impact facilitated by

@ influence monitored by

@ effects eavesdropped by
@ aspect deflated by

® repercussions gripped by

CMEH o] M RATtE DS LHEFLHOF 3H7| WE0 “gripped by (& 3|Ch"

[Z2tEol]

= R OHW RZE (A0 2E HOS0| "FEol2= 2fblE W V| WEO el V|EE2 B2
= & AgHCLL @)= MEH o WHRALts AS LIEIWOF 3t7| IE0 “gripped by (&3l
Ch'7b 7te ML Mets dE2 oYU Ch

T=2- odi

@ impact (BE) facilitated by (Z%IE|CH

@ influence (&) monitored by (ZHAIEICH

® effects (21t=5) eavesdropped by (= &|Ch
@ aspect (Z4) deflated by ($=Z=E|Ch

® repercussions (&) gripped by (E2&3|ChH
[o13]

impact : S& facilitate : FZISICEH A SICH eavesdrop : =L, ZHSICH
|. F

deflate : ~O|A &7/ WCt repercussion : Y& grip : EHEHS| ZHCH

(31 M]

detol HE O 2 71ES01 /7 A= 7HFe N0 Mes X1 A= /7 2= HYS & A4
mat / SHMAME E =0 ¢ £l st Of2I0[59| =7t =3 5435 =1 ULk /7 22 R HE
Sorel FelohA M 2ol (A) 2 StuoME Lot LAXD QAT /7 O|A2 A XA
2 oItk / HAIof HE 2217t ox 2= WEH Jd&ol (B) H =HHUCY StEHEE
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© 24. Which of the following best completes the blank?

There is a Disneyland quality to some evolutionary explanations of change that | find quite
amusing. It may sound outrageous to compare Darwinian theory to Disneyland, of course. But
I am hardly exaggerating: they both promote a view of nature. Robert Bakker, for
instance, would go so far as to attribute sophisticated and careful planning to certain creature
and suggest that their adaptations to the environment were deliberate and not simply chance

occurrences. Our first example deals with the ostriches. "Ostriches," Bakker writes, "are
long-necked and required their long necks just to reach the ground." But couldn't they just as
well have been long-necked and developed their legs to elevate them so they could eat
higher vegetation or even so they could see farther to avoid predators? "Snakes," Bakker tells
us, "cannot chew." The evolutionary path they choose early in their career required unusual
adaptations for swallowing huge hunks of food. How, exactly, did snakes "choose" to swallow
instead of chew? Was this so-called "choice" a group decision or an individual one? Why
make the adaptation if swallowing was so difficult? Bakker further tell us that with regard to
stomachs, there is a variation in location for the fermenting site. "Ruminants — the
deer-cattle-antelope family — chose a forward site and remodeled their stomach into a
complex multi-chambered rumen where the bolus is soaked by enzymes." Exactly how did this

choice come about? Was there a gathering of deer, cattle, and antelope at which time it was

decided to change or remodel stomachs to a new configuration?
@ fantastic

@ chronological

® harmonious

@ universal
® trite

: It may sound outrageous to compare Darwinian theory to Disneyland, of course.

[Z2tEol]
= 20| Aol FE5 UHM HCHe A2 HFEUEE FE22 gZos XA CHEiA
SYHQ AME =YL St 40| 7HE MAESLCH W2t SE2 oH YLt

It may sound outrageous to compare Darwinian theory to Disneyland.

(CH212| 0|23t B|=ZHZEE Hludl= 2 HEUYAH S8 + o)

But | am hardly exaggerating: they both promote a view of nature.
(SHXIZH L= Aol DHESHA| @fa QULh : A5 BE= Ao theh st X0l AlME =FDIL))
@ fantastic (2% QI

@ chronological (¢CHz=2])

® harmonious (Z322)

@ universal (YgHE 0l

® trite (TIE3h

[013]

evolutionary : ZISHEHQl  outrageous : HELUZE, HEL SAXQ  exaggerate : MY SICE
attribute : RIQI2E O]7|C} sophisticated : Huet, MEZEH adaptation : & deliberate : 112|2|,
O|=X™Ql chance occurrence : SEMQ A ostrich : EFE  elevate : =0|C}, 22|Ct vegetation :
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EZF5AE) hunk : BE| swallow : #7|Ct ferment : B2, YE enzyme : B

(31 A]
Cl=LME 22 25480 ALt / Hatol| et o HoEN 2F0= / W2t W MOjUCtD 7=
// HE2 HEURA =8 & UCh / tHRlel O|E1d CI=LZHES Bludst=s A2, / =8 // AT
L= el IgSHA| &1 ULk - A5 RF= Ao ofeh 2HdH0 AlME =YSCE // Robert
Bakker(ZHE HiFH)E, / & S0, / st =HAE A2S
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© 25. What is the main weakness of the evolutionist's arguments criticized in this passage?

There is a Disneyland quality to some evolutionary explanations of change that | find quite
amusing. It may sound outrageous to compare Darwinian theory to Disneyland, of course. But
| am hardly exaggerating: they both promote a fantastic view of nature. Robert Bakker, for
instance, would go so far as to attribute sophisticated and careful planning to certain creature
and suggest that their adaptations to the environment were deliberate and not simply chance
occurrences. Our first example deals with the ostriches. "Ostriches," Bakker writes, "are
long-necked and required their long necks just to reach the ground." But couldn't they just as
well have been long-necked and developed their legs to elevate them so they could eat
higher vegetation or even so they could see farther to avoid predators? "Snakes," Bakker tells
us, "cannot chew." The evolutionary path they choose early in their career required unusual
adaptations for swallowing huge hunks of food. How, exactly, did snakes "choose" to swallow
instead of chew? Was this so-called "choice” a group decision or an individual one? Why
make the adaptation if swallowing was so difficult? Bakker further tell us that with regard to
stomachs, there is a variation in location for the fermenting site. "Ruminants — the
deer-cattle-antelope family — chose a forward site and remodeled their stomach into a
complex multi-chambered rumen where the bolus is soaked by enzymes." Exactly how did this
choice come about? Was there a gathering of deer, cattle, and antelope at which time it was

decided to change or remodel stomachs to a new configuration?
@D Rejecting the possibility of the reversal in the process of evolution

@ Reducing the geological time frame of the evolutionary process
® Assuming animals made a conscious choice in their own evolution
@ Adopting Darwin's theory without examining the counterevidence
® Underestimating the force of struggle for existence in evolution

: Was there a gathering of deer, cattle, and antelope at which time it was decided to change or

remodel stomachs to a new configuration?

[E2tEol]

Q. What is the main weakness of the evolutionist's arguments criticized in this passage?

(O X 20X HEStD A= TSEX =82 F2 AF-2 FAUN)

= S=50| T 2=HQl TtE UCHH O Hold 28X WAooz Pofopstny, Orx|et 20

Tlztel 180 A0 S=250| 20 Tsto| Hats AFsl= 2oete JALL= AoAM T2

o =9 F2 24H™2 Assuming animals made a conscious choice in their own evolution (&

O A5 ArAol TIztof RAOIM ofAlHMQl MEHS STt FHS= A)olgte AE2 & = JUFHCH o
|

et 2 @0l Ut

|_

un A >x

==
—
=
=

@D Rejecting the possibility of the reversal in the process of evolution
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@ Reducing the geological time frame of the evolutionary process
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